
Q.1 यिद 'A' का अथŊ 'जोड़' है, 'B' का अथŊ 'गुणा' है, 'C' का अथŊ 'घटाना' है और 'D' का अथŊ 'भाग' है, तो
िनɻिलİखत ʩंजक का मानƐा होगा?

441 D 7 A 21 B 6 C (189 D 7) A (46 C 12)

Ans 1. 196

2. 158

3. 185

4. 169

Question ID : 65497844298

Status : Answered

Chosen Option : 1

Q.2 िदए गए पैटनŊ का ȯानपूवŊक अȯयन करŐ और वह संƥा चुनŐ जो इसमŐ Ůʲिच˥ (?) के ̾थान पर आ
सकती है?

60 152 161
14 18 17
15 19 ?

Ans 1. 23

2. 19

3. 13

4. 7

Question ID : 65497844196

Status : Answered

Chosen Option : 1

Q.3 चार अƗर-समूह िदए गए हœ, िजनमŐ से तीन िकसी न िकसी Ůकार से समान हœ और एक असंगत है। उस
असंगत अƗर-समूह का चयन करŐ।

Ans 1. FCHP

2. NKPW

3. JGLS

4. WTYF

Question ID : 65497844183

Status : Answered

Chosen Option : 1
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Q.4 िदए गए िवकʙों मŐ से गिणतीय िच˥ो ं के उस सही संयोजन का चयन करŐ िजसे िनɻ समीकरण मŐ *
िच˥ो ं के ̾थान पर Ţिमक ŝप से रखने पर समीकरण संतुिलत हो जाएगा।

63 * 90 * 42 * 230 * 46 * 3

Ans 1. +, ÷, –, =, ×

2. =, ×, +, ÷, –

3. =, –, +, ÷, ×

4. ×, ÷, =, –, +

Question ID : 65497842279

Status : Answered

Chosen Option : 3

Q.5 िदए गए िवकʙों मŐ से उस अƗर-समूह को चुनŐ जो िनɻ Şंखला मŐ Ůʲिच˥ (?) के ̾थान पर आ सकता
है।

GKH, DNL, WQO, TTS, GWH, ?

Ans 1. KYP

2. FYP

3. DZL

4. KZO

Question ID : 65497842262

Status : Answered

Chosen Option : 3

Q.6 िदए गए िवकʙों मŐ से वह संƥा चुिनए जो िनɻिलİखत ŵेणी मŐ Ůʲवाचक िचɎ (?) के ̾थान पर आ
सकती है।

2, 6, 10, 17, 52, 94, 472, ?

Ans 1. 816

2. 763

3. 861

4. 736

Question ID : 65497844192

Status : Not Answered

Chosen Option : --
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Q.7

Ans

1. 

2. 

3. 

4. 

Question ID : 65497844301

Status : Answered

Chosen Option : 3

Q.8 िदए गए िवकʙों मŐ से वह संƥा चुिनए जो िनɻिलİखत ŵेणी मŐ Ůʲवाचक िच˥ (?) के ̾थान पर आ
सकती है।

578, 577, 568, 543, ?

Ans 1. 518

2. 494

3. 532

4. 528

Question ID : 65497842274

Status : Answered

Chosen Option : 2ww
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Q.9 उस िवकʙका चयन करŐ जो तीसरी संƥा से उसी Ůकार संबंिधत है िजस Ůकार दूसरी संƥा पहली
संƥा से संबंिधत है और छठी संƥा पाँचवी ं संƥा से संबंिधत है।

16 : 263 :: 18 : ? :: 22 : 491

Ans 1. 361

2. 331

3. 340

4. 317

Question ID : 65497843689

Status : Answered

Chosen Option : 2

Q.10

Ans
1. 

2. 

3. 

4. 

Question ID : 65497843694

Status : Not Answered

Chosen Option : --

Q.11

Ans

1. 

2. 

3. 

4. 

Question ID : 65497844202

Status : Answered

Chosen Option : 4
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Q.12 िवकʙों मŐ से अƗरो ं के उस संयोजन का चयन करŐ िजसे दी गई Şंखला के įरƅ ̾थानो ं मŐ Ţिमक ŝप
से रखे जाने पर वह Şंखला को पूणŊ करेगा।

d _ a _ b _ q d h _ a _ c q _ h _ a _ c q

Ans 1. h a c a b d a b

2. h a q a b d a b

3. h a b a b d a b

4. h a c a b d q b

Question ID : 65497844390

Status : Answered

Chosen Option : 4

Q.13 जा˥वी, तŜणी की बहन है। तŜणी का िववाह िदलीप से Šआ है। िदलीप, रघु का िपता है। मनोज, हेमा
का पुũ है। तŜणी, हेमा की सास है। िदलीप का एक ही बेटा है और कोई बेटी नही ं है। जा˥वी का िववाह
बŜण से Šआ है। लेखा, बŜण की पुũी है।
जा˥वी की बहन का मनोज के दादा से Ɛा संबंध है?

Ans 1. बहन

2. सास

3. मां

4. पȉी

Question ID : 65497844290

Status : Answered

Chosen Option : 4

Q.14 अनािमका, गोपाल, िनʮल, वनमयी, ŵेʿ और ŵीपद एक सीधी पंİƅ मŐ उȅर िदशा की ओर अिभमुख
होकर बैठे हœ। िनʮल, गोपाल के बाएं बगल मŐ है। ŵेʿ, अनािमका और ŵीपद के ठीक बीच मŐ है। ŵीपद
दाएं छोर से दूसरे ̾थान पर हœ। िनʮलऔर वनमयी के बीच चार लोग बैठे हœ। यिद गोपाल और ŵीपद
आपस मŐ अपना ̾थान बदल लेते हœ, तो वनमयी और ŵेʿ के ठीक बीच मŐ कौन बैठा होगा?

Ans 1. ŵीपद

2. अनािमका

3. िन̻चल

4. गोपाल

Question ID : 65497844291

Status : Answered

Chosen Option : 4
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Q.15

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843397

Status : Answered

Chosen Option : 4

Q.16

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844304

Status : Answered

Chosen Option : 4

Q.17 वह सही िवकʙ चुनŐ जो िदए गए श̭दो ं के उस Ţम को दशाŊता है िजस Ţम मŐ वे अंŤेजी शɨकोश मŐ
मौजूद होते हœ।

1. Likelihood
2. Likenesses
3. Likewise
4. Likens
5. Likeliest

Ans 1. 5, 1, 4, 2, 3

2. 5, 1, 2, 4, 3

3. 1, 4, 2, 3, 5

4. 5, 1, 2, 3, 4

Question ID : 65497844599

Status : Answered

Chosen Option : 2
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Q.18

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842282

Status : Not Answered

Chosen Option : --

Q.19 एक िनिʮत कूट भाषा मŐ 'TEDIOUS' को 'HAMKWPY' िलखा जाता है। उसी कूट भाषा मŐ
'PROFUSE' कोƐा िलखा जाएगा?

Ans 1. IBLSNXY

2. BISLOYV

3. IBSLVOY

4. AJLSOVY

Question ID : 65497844387

Status : Answered

Chosen Option : 3

Q.20 एक िनिʮत कूट भाषा मŐ ‘BHOPAL’ को ‘6-24-45-48-3-36’ के ŝप मŐ कूटबȠ िकया गया है और
‘IMPHAL’ को ‘27-39-48-24-3-36’ के ŝप मŐ कूटबȠ िकया गया है। उसी कूट भाषा मŐ ‘KOHIMA’
को िकस ŝप मŐ कूटबȠ िकया जाएगा?

Ans 1. 33-30-24-18-39-9

2. 22-30-27-24-39-6

3. 22-45-24-18-26-3

4. 33-45-24-27-39-3

Question ID : 65497843681

Status : Answered

Chosen Option : 4

Q.21 अगर ‘आसमान’ को 'बादल' कहा जाता है, 'बादल' को 'तूफान' कहा जाता है, 'तूफान' को 'पानी' कहा
जाता है, 'पानी' को 'बतŊन' कहा जाता है, 'बतŊन' को 'मŜ̾थल' कहा जाता है और 'मŜ̾थल' को
‘आसमान’ कहा जाता है। तो मछिलयां कहाँ रहती हœ?

Ans 1. पानी

2. मŜ̾थल

3. बतŊन

4. बादल

Question ID : 65497844187

Status : Answered

Chosen Option : 3
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Q.22

Ans

1. 

2. 

3. 

4. 

Question ID : 65497843699

Status : Answered

Chosen Option : 2

Q.23 िदए गए कथनो ंऔर िनʺषŘ को ȯानपूवŊक पढ़Ő। यह मानते Šए िक कथनो ं मŐ दी गई जानकारी सȑ है,
भले ही वह सामा̢य ŝप से ǒात तȚों से िभɄ Ůतीत होती हो, तय करŐ िक िदए गए िनʺषŘ मŐ से कौन
से िन̽कषŊ कथनो ं का तािकŊ क ŝप से अनुसरण करते हœ।

कथन:
कुछ शेर, बाघ हœ।
सभी बाघ, तŐदुए हœ।
सभी शेर, जानवर हœ।

िनʺषŊ:
I. कुछ जानवर, तŐदुए हœ।
II. कुछ तŐदुए, शेर हœ।
III. कुछ जानवर, बाघ हœ।

Ans 1. केवल िनʺषŊ I और III अनुसरण करते हœ।

2. िनʺषŊ I, II और III सभी अनुसरण करते हœ।

3. केवल िनʺषŊ I और II अनुसरण करते हœ।

4. केवल िनʺषŊ II और III अनुसरण करते हœ।

Question ID : 65497842272

Status : Answered

Chosen Option : 2
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Q.24 दो वृȅो,ं वृȅ-A और वृȅ-B िजनकी िũǛाएं Ţमशः  4 cm और 8 cm हœ, के Ɨेũफलो ं का अनुपात Ɛा
होगा?

Ans 1. 1 : 16

2. 1 : 8

3. 1 : 2

4. 1 : 4

Question ID : 65497843387

Status : Answered

Chosen Option : 4

Q.25 उस िवकʙका चयन करŐ जो तीसरे पद से उसी Ůकार संबंिधत है िजस Ůकार दूसरा पद पहले पद से
संबंिधत है।

PRACTISE : ACEIPRST :: TECHNOLOGY : ?

Ans 1. CEGHLNOOTY

2. HCETONYGLO

3. CEGHLNOPTY

4. CEGLHOONTY

Question ID : 65497843376

Status : Answered

Chosen Option : 1

Q.1 िवǒान कथा/लोकिŮय िवǒान के िनɻिलİखत लेखकों मŐ से िकसने '2001 : ए ˙ेसओिडसी (2001 : A
Space Odyssey)' िलखा और भौितक अनुसंधान Ůयोगशाला, अहमदाबाद मŐ Ůोफेसर का पद
संभाला?

Ans 1. आथŊर सी ƑाकŊ

2. जूʤ वनő

3. एचजी वेʤ

4. आईज़ैक अिसमोव

Question ID : 65497843417

Status : Not Answered

Chosen Option : --

Q.2 भारत के संिवधान का पहला संशोधन अिधिनयम ______ मŐ आया था।
Ans 1. 1954

2. 1951

3. 1953

4. 1952

Question ID : 65497843721

Status : Answered

Chosen Option : 2

Section : General Awareness
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Q.3 िनɻिलİखत मŐ से कौन इंिडयन एसोिसएशन फॉर द कʐीवेशन ऑफ साइंस के सं̾थापक थे?

Ans 1. महŐū लाल सरकार

2. Ůफुʟ चंū रॉय

3. आशुतोष मुखोपाȯाय

4. जगदीश चंū बोस

Question ID : 65497843719

Status : Answered

Chosen Option : 4

Q.4 िनɻिलİखत मŐ से Ɛा सावŊजिनक व̾तुओं की ŵेणी मŐ नही ंआता है?

Ans 1. खाȨ वˑुएँ

2. रा Ō̓ ीय सुरƗा

3. सड़कŐ

4. सरकारी Ůशासन

Question ID : 65497843703

Status : Answered

Chosen Option : 1

Q.5 िदʟी सʔनत Ůशासन के संदभŊ मŐ, राǛ पũाचार िवभाग को िनɻ मŐ से िकस नाम से जाना जाता था?
Ans 1. दीवान-ए-इंशा

2. दीवान-ए-अजŊ

3. दीवान-ए-रसालत

4. दीवान-ए-खैरात

Question ID : 65497844220

Status : Answered

Chosen Option : 3

Q.6 बंगाल के तǽालीन नवाब ______ से Šगली नदी के दािहने िकनारे पर एक ʩापाįरक पोː ̾थािपत
करने की अनुमित Ůाɑ करके चंदननगर को 1673 मŐ एक ůांसीसी उपिनवेश के ŝप मŐ ̾थािपत िकया
गया था।

Ans 1. इŰािहम खान

2. मंसूर अली खान

3. मीर ज़ाफ़र

4. मुिशŊद कुली खान

Question ID : 65497843717

Status : Answered

Chosen Option : 4
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Q.7 अƃूबर 2020 मŐ, हįरयाणा सरकार ने जल जीवन िमशन योजना के तहत एक ______ की शुŜआत की
।

Ans 1. जल लवणता परीƗण के िलए ŮिशƗण कायŊŢम

2. पानी मŐ पीएच ˑर (pH level) का परीƗण करने के िलए मोबाइल ऐप

3. घरेलू जल परीƗण िकट

4. मोबाइल जल परीƗण Ůयोगशाला

Question ID : 65497842292

Status : Not Answered

Chosen Option : --

Q.8 िनɻिलİखत मŐ से कौन 'िमसेज फनीबोɌ (Mrs Funnybones)' पुˑक की लेİखका हœ?
Ans 1. रेखा

2. जूही चावला

3. सोनाली बŐͤūे

4. िǩंकल खɄा

Question ID : 65497844324

Status : Not Answered

Chosen Option : --

Q.9 िवभाजन के दौरान भारत का ________ उȋादक एक बड़ा भू-भाग पािकˑान के िहˣे मŐ चला गया।
Ans 1. सोयाबीन

2. कपास

3. सूरजमुखी

4. जूट

Question ID : 65497842299

Status : Not Answered

Chosen Option : --

Q.10 अŮैल 2021 तक की İ̾थित के अनुसार, िनɻिलİखत मŐ से िकस टेबल टेिनस İखलाड़ी ने नौ सीिनयर
नेशनल चœͤिपयनिशप जीती हœ?

Ans 1. सािथयान गणानाशेखरन

2. ए शरत कमल

3. सौʄजीत घोष

4. सुजय घोरपड़े

Question ID : 65497843422

Status : Answered

Chosen Option : 1
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Q.11 भारत के आिथŊक सवőƗण 2020-21 के अनुसार, िवȅ वषŊ 2021 मŐ भारत के पास सकल घरेलू उȋाद के
_________ का चालू खाता अिधशेष होने की उʃीद है।

Ans 1. 3%

2. 2%

3. 1%

4. 4%

Question ID : 65497843401

Status : Not Answered

Chosen Option : --

Q.12 िनɻिलİखत मŐ से िकस नृȑ ŝप की उȋिȅ असम मŐ Šई?

Ans 1. सũीया

2. छाऊ

3. गोटीपुआ

4. लावणी

Question ID : 65497844206

Status : Not Answered

Chosen Option : --

Q.13 चंडीगढ़ का खुला हाथ ˝ारक (ओपन हœड मॉɊूमŐट) ______ Ȫारा िडजाइन िकया गया था।
Ans 1. ले काबूŊिज़यर (Le Corbusier)

2. मैȚू नोिवकी (Matthew Nowicki)

3. मैƛवेल ůाई (Maxwell Fry)

4. अʛटŊ मेयर (Albert Mayer)

Question ID : 65497842288

Status : Not Answered

Chosen Option : --

Q.14 भारतीय संिवधान का कौन सा अनुǅेद चौदह वषŊ से कमआयु के बǄो ं को कारखानो,ं खानो ंआिद मŐ
िनयोिजत करने से रोकता है?

Ans 1. 24

2. 26

3. 23

4. 25

Question ID : 65497844228

Status : Answered

Chosen Option : 1
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Q.15 संˋृत िवȪान पािणिन Ȫारा िलİखत 'अʼाȯायी' ______ से संबंिधत एक पुˑक है।
Ans 1. अथŊʩव̾था

2. िविध

3. ʩाकरण

4. औषिध

Question ID : 65497842302

Status : Answered

Chosen Option : 3

Q.16 1976 का 40वां संशोधन अिधिनयम भारत के संिवधान के िकस अनुǅेद पर लागू िकया गया था?
Ans 1. 245

2. 297

3. 248

4. 226

Question ID : 65497844328

Status : Answered

Chosen Option : 1

Q.17 माचŊ 2021 मŐ, िŢकेट के सभी Ůाŝपो ं के अंतररा Ō̓ ीय मैचो ं मŐ 10,000 रन बनाने वाली पहली भारतीय
मिहला िŢकेटर िनɻ मŐ से कौन बनी?ं

Ans 1. तािनया भािटया

2. झलून गोˢामी

3. िŮया पुिनया

4. िमताली राज

Question ID : 65497842310

Status : Answered

Chosen Option : 4

Q.18 लीिथयम नािभक मŐ िकतने Ůोटॉन होते हœ?
Ans 1. 5

2. 3

3. 4

4. 2

Question ID : 65497843406

Status : Not Answered

Chosen Option : --

Q.19 ऑƛीजन का परमाणु ūʩमान (िजसे 'u' मŐ ʩƅ िकया जाता है) Ɛा है?

Ans 1. 16

2. 24

3. 8

4. 32

Question ID : 65497843708

Status : Answered

Chosen Option : 1
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Q.20 कीटो ं का मनुˈो,ं पयाŊवरण और अɊ जीवो ं के साथ संबंधो ं का अȯयन िनɻ मŐ से Ɛा कहलाता है?

Ans 1. मायकोलॉजी (Mycology)

2. एंटोमोलोजी (Entomology)

3. एथोलॉजी (Ethology)

4. ओįरिनथोलॉजी (Ornithology)

Question ID : 65497844316

Status : Answered

Chosen Option : 2

Q.21 िनɻिलİखत मŐ से िकसका संबंध 'होिमिनड (Hominidae)' कुल से है?

Ans 1. आम

2. घरेलू मƀी

3. मानव

4. गेšँ

Question ID : 65497843408

Status : Answered

Chosen Option : 3

Q.22 वषŊ ______ मŐ, भारत की तǽालीन Ůधान मंũी, इंिदरा गांधी ने हįरत Ţांित की शुŜआत करने के िलए
'गेšं Ţांित' शीषŊक से िवशेष डाक िटकट जारी िकए थे।

Ans 1. 1975

2. 1968

3. 1987

4. 1943

Question ID : 65497844219

Status : Answered

Chosen Option : 2

Q.23 भारत की 2011 की जनगणना के अनुसार, िनɻिलİखत मŐ से िकस राǛ का जनसंƥा घनȕ 17 ʩİƅ
Ůित वगŊ िकमी था?

Ans 1. नगालœड

2. िसİſम

3. असम

4. अŜणाचल Ůदेश

Question ID : 65497844318

Status : Answered

Chosen Option : 4
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Q.24 भारत सरकार की िसतंबर 2020 की Ůेस िवǒİɑ के अनुसार, भारत सरकार Ȫारा िपछले 6 वषŘ मŐ
Ɋूनतम समथŊन मूʞ (MSP) दरो ं पर िकतना भुगतान िकया गया है?

Ans 1. ₹5 लाख करोड़

2. ₹7 लाख करोड़

3. ₹3 लाख करोड़

4. ₹9 लाख करोड़

Question ID : 65497844311

Status : Not Answered

Chosen Option : --

Q.25 What is the study of the production and propagation of sound waves called?

Ans 1. Photonics

2. Astrophysics

3. Acoustics

4. Optics

Question ID : 65497844212

Status : Answered

Chosen Option : 3

Q.1

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843736

Status : Answered

Chosen Option : 2

Q.2

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844239

Status : Answered

Chosen Option : 1

Section : Quantitative Aptitude
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Q.3

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843742

Status : Answered

Chosen Option : 2

Q.4

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843124

Status : Answered

Chosen Option : 3

Q.5

Ans
1. 

2. 

3. 

4. 

Question ID : 65497844341

Status : Answered

Chosen Option : 3
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Q.6

Ans
1. 

2. 

3. 

4. 

Question ID : 65497843425

Status : Answered

Chosen Option : 2

Q.7

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843343

Status : Answered

Chosen Option : 3
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Q.8

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844663

Status : Answered

Chosen Option : 1

Q.9

Ans
1. 

2. 

3. 

4. 

Question ID : 65497843744

Status : Answered

Chosen Option : 2

Q.10

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842317

Status : Answered

Chosen Option : 1

Q.11

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843739

Status : Answered

Chosen Option : 3
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Q.12

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842737

Status : Answered

Chosen Option : 2

Q.13

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844245

Status : Answered

Chosen Option : 4

Q.14

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844349

Status : Answered

Chosen Option : 1

ww
w.
go
vt
jo
bs
al
er
t.i
n



Q.15

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843424

Status : Answered

Chosen Option : 4

Q.16

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844338

Status : Answered

Chosen Option : 3

Q.17

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844661

Status : Answered

Chosen Option : 1

Q.18

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842327

Status : Answered

Chosen Option : 1
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Q.19

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843733

Status : Answered

Chosen Option : 1

Q.20

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843443

Status : Answered

Chosen Option : 4

Q.21

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842312

Status : Answered

Chosen Option : 1

Q.22

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844344

Status : Answered

Chosen Option : 1
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Q.23

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843445

Status : Answered

Chosen Option : 3

Q.24

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844255

Status : Answered

Chosen Option : 3
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Q.25

Ans

1. 

2. 

3. 

4. 

Question ID : 65497844351

Status : Answered

Chosen Option : 4

Q.1 Select the option that expresses the given sentence in passive voice.

Most lizards rely on camouflage to hide from their enemies.

Ans 1. Camouflage is relied on by most lizards to hide from their enemies.

2. Camouflage was relied on by most lizards to hide from their enemies.

3. Camouflage has been relied on by most lizards to hide from their enemies.

4. Most lizards are being relied on by camouflage to hide from their enemies.

Question ID : 65497843756

Status : Answered

Chosen Option : 1

Q.2 Select the most appropriate antonym of the given word.

sober

Ans 1. straight

2. calm

3. unwell

4. drunk

Question ID : 65497843768

Status : Answered

Chosen Option : 4

Section : English Comprehension
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Q.3 Select the option that expresses the given sentence in indirect speech.

They cried, “Bravo! Well done.”

Ans 1. They cried in joy for doing well.

2. They cried loudly for doing well.

3. They exclaimed with wonder that they had done well.

4. They shouted in joy that they had done well.

Question ID : 65497844268

Status : Answered

Chosen Option : 3

Q.4 Select the most appropriate synonym of the given word.

Amass

Ans 1. Spread

2. Scatter

3. Gather

4. Divide

Question ID : 65497843464

Status : Answered

Chosen Option : 3

Q.5 Select the most appropriate ANTONYM of the given word.

Relay

Ans 1. Spread

2. Pass

3. Send

4. Hold

Question ID : 65497842355

Status : Answered

Chosen Option : 4

Q.6 Select the most appropriate option to fill in the blank.

People all over the world are concerned about the human right to live with ______.

Ans 1. dignity

2. delight

3. grandeur

4. poise

Question ID : 65497844382

Status : Answered

Chosen Option : 1
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Q.7 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required’.

All the buses leaving between 10 p.m. and 5 a.m. has been cancelled.

Ans 1. were cancelled 

2. No substitution required

3. were been cancelled

4. being cancelled

Question ID : 65497842350

Status : Answered

Chosen Option : 1

Q.8 Select the most appropriate option to fill in the blank.

The teacher kept stopping her online lesson ______ to check if her students were
following it.

Ans 1. indifferently

2. impartially

3. unresponsively

4. occasionally

Question ID : 65497843775

Status : Answered

Chosen Option : 4

Q.9 Select the most appropriate meaning of the given idiom.

Keep someone at arm’s length

Ans 1. Restrict someone to a small space to stand

2. Avoid being friendly with someone

3. Make someone stay outside

4. Allow someone to talk only from a distance

Question ID : 65497842357

Status : Answered

Chosen Option : 2

Q.10 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement required'.They each listened
carefully to what each other said.

Ans 1. one another

2. each another

3. the other

4. No improvement required

Question ID : 65497843462

Status : Answered

Chosen Option : 1
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Q.11 Select the most appropriate meaning of the given idiom.

To fight shy of

Ans 1. To struggle hard

2. To overcome one’s weakness

3. To attack without warning

4. To try to avoid something

Question ID : 65497844277

Status : Answered

Chosen Option : 4

Q.12 Select the option that can be used as a one-word substitute for the given group of
words.

A problem that is so difficult that it cannot be answered

Ans 1. Impossible

2. Solvable

3. Terrible

4. Insoluble

Question ID : 65497844380

Status : Answered

Chosen Option : 1

Q.13 Select the most appropriate ANTONYM of the given word.

Authentic

Ans 1. Notorious

2. Incredible

3. Meagre

4. Genuine

Question ID : 65497844275

Status : Answered

Chosen Option : 2

Q.14 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

Aarav’s mother / speaks four languages / fluently.

Ans 1. fluently

2. Aarav’s mother

3. No error

4. speaks four languages

Question ID : 65497844458

Status : Answered

Chosen Option : 3
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Q.15 Select the option that can be used as a one-word substitute for the given group of
words.

Unfairly take something belonging to another for one’s use

Ans 1. Misappropriate

2. Misapprehend

3. Misconstrue

4. Misinterpret

Question ID : 65497843773

Status : Answered

Chosen Option : 1

Q.16 Select the option that expresses the given sentence in passive voice.

It is time to revise the syllabi.

Ans 1. It was time for the syllabi to be revised.

2. It is time for the syllabi to be revised.

3. It has been time for the syllabi to revise.

4. It is time for the syllabi to revise.

Question ID : 65497843452

Status : Answered

Chosen Option : 2

Q.17 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

What would / happen if / human beings were / govern by robots?

Ans 1. What would

2. govern by robots

3. happen if

4. human beings were

Question ID : 65497843753

Status : Answered

Chosen Option : 2

Q.18 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

The increase in irrigated areas / has resulted on achieving / record food grain
production.

Ans 1. record food grain production

2. No error

3. The increase in irrigated areas

4. has resulted on achieving

Question ID : 65497844259

Status : Answered

Chosen Option : 4
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Q.19 The following sentence has been split into segments. One of them may contain an
error. Identify the segment that contains a grammatical error. If you don’t find any
error, mark ‘No error’ as your answer.

I had all / the comforts to life / in my childhood.

Ans 1. the comforts to life

2. No error

3. I had all

4. in my childhood

Question ID : 65497842136

Status : Answered

Chosen Option : 1

Q.20 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A. It coincided with the 140th birth anniversary of Sardar Vallabhbhai Patel.

B. Through this innovative measure, the knowledge of the traditions and culture of
different states is being shared.

C. The initiative ‘Ek Bharat Shreshtha Bharat’ was launched by the Honourable Prime
Minister on 31st October 2015.

D. This will lead to an enhanced bonding and national integration.

Ans 1. ABCD

2. CBDA

3. CABD

4. ADBC

Question ID : 65497843463

Status : Answered

Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of
alternatives given. Select the most appropriate option for each blank.

Listening plays (1) ______ role in the interactive process of business transactions. It enables
a person to gather proper and (2) ______ information so that he can understand the matter
with clarity. For this, he should have a positive attitude towards the speaker and the (3)
______. He should also (4) ______ on what is being spoken and then evaluate it with
reference to the (5) ______.

SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank number 1.

Ans 1. a significant

2. a trivial

3. a paltry

4. an abundant

Question ID : 65497844364

Status : Answered

Chosen Option : 1
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of
alternatives given. Select the most appropriate option for each blank.

Listening plays (1) ______ role in the interactive process of business transactions. It enables
a person to gather proper and (2) ______ information so that he can understand the matter
with clarity. For this, he should have a positive attitude towards the speaker and the (3)
______. He should also (4) ______ on what is being spoken and then evaluate it with
reference to the (5) ______.

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank number 2.

Ans 1. vague

2. approximate

3. superficial

4. accurate

Question ID : 65497844365

Status : Answered

Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of
alternatives given. Select the most appropriate option for each blank.

Listening plays (1) ______ role in the interactive process of business transactions. It enables
a person to gather proper and (2) ______ information so that he can understand the matter
with clarity. For this, he should have a positive attitude towards the speaker and the (3)
______. He should also (4) ______ on what is being spoken and then evaluate it with
reference to the (5) ______.

SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank number 3.

Ans 1. writer

2. topic

3. orator

4. words

Question ID : 65497844366

Status : Answered

Chosen Option : 2
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of
alternatives given. Select the most appropriate option for each blank.

Listening plays (1) ______ role in the interactive process of business transactions. It enables
a person to gather proper and (2) ______ information so that he can understand the matter
with clarity. For this, he should have a positive attitude towards the speaker and the (3)
______. He should also (4) ______ on what is being spoken and then evaluate it with
reference to the (5) ______.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank number 4.

Ans 1. neglect

2. disperse

3. distract

4. concentrate

Question ID : 65497844367

Status : Answered

Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of
alternatives given. Select the most appropriate option for each blank.

Listening plays (1) ______ role in the interactive process of business transactions. It enables
a person to gather proper and (2) ______ information so that he can understand the matter
with clarity. For this, he should have a positive attitude towards the speaker and the (3)
______. He should also (4) ______ on what is being spoken and then evaluate it with
reference to the (5) ______.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank number 5.

Ans 1. paragraph

2. context

3. excerpt

4. selection

Question ID : 65497844368

Status : Answered

Chosen Option : 2
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